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Note:	 The question paper is divided into three sections A, B and C. 

Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¢& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 

delimit your answer in one word, one sentence or 

maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 What are the objectives of management accountancy?
		  à~ÝY boIm§H$Z Ho$ ³¶m CÔoí¶ hmoVo h¡?

	 (ii)	 Explain the meaning of Tangible fixed assets.
		  ‘yV© ñWm¶r gån{Îm¶m| H$m AW© ~VmB¶o&

	 (iii)	 What do you mean by financial analysis?
		  {dÎmr¶ {díbofU go Amn ³¶m g‘PVo h¡?

	 (iv)	 Opening stock ` 35,000 closing stock ` 45,000. Sales 
` 4,00,000. Gross profit ratio 20% on sales. Calculate 
stock turnover ratio.

		  àmapå^H$ ñH$ÝY ` 35,000 ApÝV‘ ñH$ÝY ` 45,000, {dH«$¶ 
` 4,00,000 gH$b bm^ AZwnmV {dH«$¶ H$s 20% ñH$ÝY AmdV© 
AZwnmV kmV H$s{O¶o&

	 (v)	 What is fund?
		  H$mof ³¶m h¡?

	 (vi)	 What is permanent or regular working capital?
		  ñWm¶r ¶m {Z¶{‘V H$m¶©erb ny±Or ³¶m h¡?

	 (vii)	Define Inventory.
		  ñH$ÝY H$mo n[a^m{fV H$s{O¶o&

	 (viii)	What is cash flow statement?
		  amoH$S> àdmh {ddaU ³¶m h¡?

	 (ix)	 Write the name of any two leverages.
		  {H$Ýhr Xmo CÎmmobH$m| Ho$ Zm‘ {b{I¶o&

	 (x)	 Define cost of capital.
		  ny§Or H$s bmJV H$mo n[a^m{fV H$s{O¶o&
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	 Section - B	 4 × 10 = 40
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2)	 Explain the features of an ideal financial statements.

	 EH$ AmXe© {dÎmr¶ {ddaU H$s {deofVmE± ñnîQ> H$s{OE&

3)	 The following data relate to the companies X and Y which are 

of homogeneous groups.

	 {ZåZ{b{IV g‘§H$ X Ed§ Y H$ån{Z¶m| go gå~pÝYV h¡ Omo EH$ g‘yh H$s 
h¡…

X
(`)

Y
(`)

Net-operating Income 50,000 50,000

Overall cost of capital 12.5% 12.5%

5% Debentures 2,00,000 –

	 Calculate value of companies under net operating income 

theory and also calculate cost of equity capital.

	 ewÕ g§MmbZ Am¶ (NOI) {gÕmÝV Ho$ AZwgma H$ån{Z¶m| H$m ‘yë¶ kmV 
H$s{O¶o VWm g‘Vm ny§Or H$s bmJV ^r kmV H$s{OE&
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4)	 From the following particulars calculate the capital gearing 

ratio:

	 {ZåZ {ddaU Ho$ AmYma na ny§Or XpÝVH$aU AZwnmV H$s JUZm H$s{OE&

(`)

Equity share capital 4,00,000

10% preference share capital 2,00,000

16% Debentures 4,00,000

General Reserves 3,00,000

Profit and loss account 1,00,000

5)	 Give specimen of a cash flow statement and explain the item 

there in.

	 EH$ amoH$S>-àdmh {ddaU H$m Z‘yZm Xr{O¶o Am¡a CgH$s ‘Xm| H$mo ñnîQ> 
H$s{OE&

6)	 Explain the concept and determinants of working capital.

	 H$m¶©erb ny§Or H$s AdYmaUm Ed§ Bgo {ZYm©[aV H$aZodmbo VËdm| H$mo ñnîQ> 
H$s{OE&

7)	 Calculate fund from operation in order to prepare the fund flow 

statement.

	 H$mof àdmh {ddaU ~ZmZo Ho$ {bE g§MmbZ go H$mof H$s JUZm H$s{OE&

8)	 Define capital budgeting. Discuss its objectives and importance.

	 ny±Or ~OQ>Z H$mo n[a^m{fV H$s{OE& BgHo$ CÔoí¶ Ed§ ‘hÎd H$m dU©Z 
H$s{OE&
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9)	 A company has sales of ` 10,00,000, variable cost of ` 

7,00,000; fixed cost of ̀  2,00,000 and debentures of ̀  5,00,000 

at 10% interest. Calculate operating, financial and combined 

leverages.

	 EH$ H$ånZr H$s {~H«$s ` 10,00,000; n[adV©Zeb bmJVo ` 7,00,000; 

ñWm¶r bmJV| ` 2,00,000 VWm 10% ã¶mO na G$U nÌ ` 5,00,000 h¢& 
n[aMmbZ, {dÎmr¶ Ed§ g§¶w³V CÎmmobH$ H$s JUZm H$s{O¶o&

	 Section - C	 2 × 20 = 40
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
20 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10)	 What is meant by inventory control? Discuss as why inventory 

control is important explaining the need to hold inventory in a 

manufacturing concern.

	 ñH$ÝY {Z¶ÝÌU go ³¶m Ame¶ h¡? EH$ {Z‘m©Ur g§ñWm ‘| ñH$ÝY aIZo H$s 
Amdí¶H$Vm ~VbmVo hþE ~VmB©¶o {H$ ñH$ÝY {Z¶ÝÌU ³¶m| Amdí¶H$ h¡?

11)	 What do you understand by analysis of financial statements? 

What are its objectives? Explain its procedure.

	 {dÎmr¶ {ddaUm| Ho$ {díbofU go Amn ³¶m g‘PVo h¡? BgHo$ ³¶m CÔoí¶ 
h¡? BgH$s {H«$¶m{d{Y H$m dU©Z H$s{OE&
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12)	 Your are supplied with the following information in respect of 

Shyam Ltd for the year 2016:

	 AmnH$mo í¶m‘ {b. H$s df© 2016 Ho$ {bE {ZåZ{b{IV gyMZmE± CnbãY 
h¢&
Production for the year 69,000 units

Finished goods in stores 3 months

Raw material in stores 2 months consumption

Production process 1 month

Credit allowed by creditors 2 month

Credit given to debtors 3 month

Selling price per unit ` 0.50

Raw material 50% of selling price

Direct wages 10% of selling price

Over heads 20% of selling price

	 There is regular production and sales cycle and wages and 

overhead accrue evenly. Wages are paid in the next month of 

accrual. Material is introduced in the beginning of production 

cycle. You are required to give out:

	 A)	 Its working capital requirements.

	 B)	 �Its permissible bank borrowings as per first and second 

method of lending.
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	 CËnmXZ VWm {dH«$¶ H$m MH«$ df© ‘| {ZaÝVa ê$n go Omar ahVm h¡ Ed§ 
‘OXÿar VWm Cn[aì¶¶ {ZaÝVa A{O©V hmoVo h¢& ‘OXÿar H$s ^yJVmZ A{O©V 
hmoZo Ho$ EH$ ‘mh níMmV {H$¶m OmVm h¡& gm‘J«r H$mo CËnmXZ MH«$ Ho$ àmaå^ 
‘| hr {Zdoe {H$¶m OmVm h¡& AmnH$mo V¡¶ma H$aZm h¡&

	 A)	 H$ånZr H$s Amdí¶H$ H$m¶©erb ny±Or H$m {ddaU nÌ
	 ~)	� ~¢H$ Ûmam Xo¶ G$U H$s ‘mÝ¶ am{e H$m CëboI, àW‘ d {ÛVr¶ ar{V¶m| 

Ho$ AmYma na

13)	 Pooja Ltd. has a total invested capital of ` 10,00,000 out of 

this ` 5,00,000 has been raised through equity shares and 

remaining ` 5,00,000 through 5% debentures. In coming five 

years the company expects to earn before interest and tax  

` 90,000, ` 1,20,000, ` 2,00,000. ` 25,000 and ` 10,000 from 

year 1 to 5 respectively. The rate of corporate income tax is 

30%. Comment on the earnings to equity share holders.

	 nyOm {b. ` 10,00,000 H$s {d{Z¶mo{OV ny±Or aIVr h¢, Bg‘| go 
` 5,00,000 g‘Vm Aem| go VWm eof ` 5,00,000 , 5% G$U nÌm| go 
àmßV {H$¶o h¢& AJbo nm±M dfm] ‘| H$ånZr ã¶mO VWm H$a nyd© Am¶ àW‘ 
df© go nm±Mdo df© VH$ H«$‘e…  ` 90,000, ` 1,20,000, ` 2,00,000, 

` 25,000 VWm ` 10,000 àmßV H$aZo H$s Amem H$aVr h¢& {ZJ‘ H$a H$s 
Xa| 30%. h¢& g‘Vm A§eYmar¶m| H$s Am¶ na {Q>ßnUr H$s{OE&


